#9
Assignment #5

The Simplex method

DUE:  March 28
20 points
A clothing store makes suits and blazers.  Three main resources are used:  material, rack space, and labor.  The shop has developed this linear programming model for determining the number of suits and blazers to make in order to maximize profits:

X1 = number of suits to make

X2 = number of blazers to make

Zmax = $100X1 + $150X2   (profit, $)

Subject to:

10X1 + 4X2 <=160   (material, square yds.)

X1 + X2 <= 20   (rack space)

10X1 + 20X2 <= 300   (labor, hr)

X1,X2 >= 0

Transform the constraints into equations.

PART 1:  Solve this model with the graphical method.

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	


What are the feasible solutions?

What is the optimal solution?

PART 2:  Solve this model with the Simplex method

Simplex Tableau for this Model

1st Iteration
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Simplex Tableau for this Model

2nd Iteration
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Simplex Tableau for this Model

3rd Iteration
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PART 3:  Solve this model with STORM.

The assignment you submit will include the following:

1)  this handout, completed, including:

a)  graphical solution

b)  Simplex solution

2)  STORM solution

3)  memo to management

